= A
N = 0 &8 AFH Y & A AN
20159 =&E 1 3 LUGH NSEFSSAIE A
2N MHEHSEMGL
HM: NHSA NETSEAMEL 2F
S 280 FHA2L (&2 &)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
ANSESAMY A 1,811,438 562,360 1,249,078
DHEA IHSEANTL 29 1,393,066 145,075 1,247,991
SSHo HA2L 1,393,066 145,075 1,247,991
WE HASE e 33,000 22,800 10,200
401 AlEHIZ =20 30,200 20,000 10,200
01 Al&H| 30,200 20,000 10,200
ODWE=BI| X ZAH(182 ) 6,500,000 6,500 0 6,500
OCIEE=2S HHIAFY (2HE HAIE)
3,700,000 3,700 0 3,700
HNLESAAA HAL BE= 1,360,066 122,275 1,237,791
401 AlZHIZ =20 1,354,666 122,275 1,232,391
01 Al&HI 1,341,199 122,275 1,218,924
OFAMN E=H| 756,385 35,925 720,460
E= ZAHH| 640,360,000 640,360 0 640,360
OO0l S A Mt Al 450,0002 * 178m 80,100 0 80,100
OFA £=HBA 385,951 0 385,951
OLBAE B2 A 365,000,0002! 365,000 0 365,000
OLSAE BE4LZ2AF 8AHHI
365,000,000 * 5.74% 20,951 0 20,951
OFEAMN T2 AH581.8m) 34,313,000 34,313 0 34,313
OXAZ EHEADBA 78,200 0 78,200
OFl ez T A 63,200,000 63,200 0 63,200
OKlBE JIRS ol4HIE 15,000,000 15,000 0 15,000
02 2teldl 12,467 0 12,467
OZelIHI (EAL &585,44)
1,005,360,000& * 1.24% 12,467 0 12,467
03 Al& 2 HH 1,000 0 1,000
OAl & 2| 1,000,000 1,000 1,000
405 KHaHE S| 5,400 0 5,400
01 IHAtY 2 E F SH 5,400 0 5,400
Ool2A HOIE 2 Xt 5,400 0 5,400
Ogleiolg goleg 300,000 * 274 600 0 600
OF Ol Al o Xt 150,000 * 1074 1,500 0 1,500
ou2xe ox 450,0002 * 404 1,800 0 1,800
oowlieg ok 150,000 * 10H 1,500 0 1,500
HESAAY (NBE=AI L) 418,372 417,285 1,087
ol 2 A Y| 412,272 411,185 1,087
Ol 24 H 412,272 411,185 1,087
101 Q124 H 412,272 411,185 1,087
01 84 121,123 120,036 1,087
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